7.1.11. Skládání sil různého směru
Cvičení 1)

1) F1 = 4N, F2 = 3N,  ( = 90°

2) F1 = 5N, F2 = 3N,  F3 = 4N,  ( = 60°,  (= 90°

3) F1 = 6N, F2 = 2N,  F3 = 2N,  F4 = 6N, ( = 60°,  b= 60°, ( = 60°

4) F1 = 4N, F2 = 3N,  F3 = 3N,  F4 = 4N, ( = 30°,  b= 120°, ( = 30°

5) F1 = 5N, F2 = 3N,  F3 = 2N,  F4 = 3N, F5 = 5N, ( = 30°,  b= 120°, ( = 30°, ( = 30°

Cvičení 2)

1) F1 = 6N, F2 = 3N,  F3 = 4N,  ( = 60°,  (= 90°

2) F1 = 4N, F2 = 6N,  F3 = 2N,  ( = 120°,  (= 60°

3) F1 = 8N, F2 = 4N,  F3 = 4N,  F4 = 8N, ( = 30°,  (= 120°, ( = 30°

4) F1 = 7N, F2 = 3N,  F3 = 3N,  F4 = 7N, ( = 45°,  (= 90°, ( = 45°

5) F1 = 6N, F2 = 4N,  F3 = 2N,  F4 = 4N, F5 = 6N, ( = 30°,  (= 60°, ( = 60°, ( = 30°

6) F1 = 8N, F2 = 5N,  F3 = 2N,  F4 = 5N, F5 = 8N, ( = 60°,  (= 30°, ( = 30°, ( = 60°

Cvičení 3)

1) F1 = 5N, F2 = 3N,  F3 = 4N,  ( = 90°,  (= 30°

2) F1 = 4N, F2 = 6N,  F3 = 3N,  ( = 120°,  (= 30°

3) F1 = 5N, F2 = 4N,  F3 = 4N,  F4 = 5N, ( = 45°,  (= 90°, ( = 45°

4) F1 = 4N, F2 = 3N,  F3 = 3N,  F4 = 4N, ( = 30°,  (= 120°, ( = 30°

5) F1 = 4N, F2 = 4N,  F3 = 2N,  F4 = 4N, F5 = 4N, ( = 30°,  (= 60°, ( = 60°, ( = 30°

6) F1 = 7N, F2 = 4N,  F3 = 2N,  F4 = 4N, F5 = 7N, ( = 60°,  (= 30°, ( = 30°, ( = 60°

